AR K= FAEEIR 2021.10

AR A0

OIE LR E B 8 IERLRE 1 ~44%L XIEALREA S HMEXEFIRES TERETTARAMELETS,
G-2Mm IEHLRTE B5~74L
5 =
AD ‘ BD B®
14 14 @D14L 24 24 243 24
2 3 6 7 8
| 59 9 |
IEGIRER 304347 —L(15—5—15)
Ad—Fh Ba—k
B
Xt B R A1l A2 *xf Bk R A1 A2
@ | 1000 ~ 1035 1 VS 2 TRE TRE TRE 3 VS 4 TRE TRE TRE
@ | 1040 ~ 11:15 5 VS 6 IRIE IRIE TRE 7 VS 8 IRIE ITRE IRIE
@ 1120 ~ 1155 | DA vs (OB TRiE TRiE TRE DA vs @OB& TRiE IRIE TRiE
@ | 1200 ~ 1235 @Al Vs QB IRIE IRIE IRIE @A Vvs QB& TRiE TRE IRIE
TEEH: X P EBGR1F—L+REBN—F AV IBUR16F— L4
12/11 (£) 12/11 (x)
2% T4 F 75 08 A 2% T %3 0O MBI
EaE T ] EaE T 1




